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	Module Name: Answer Key – Science Worksheets



	Science 1 Worksheet 1
1.  An epidemic is an outbreak of a contagious disease that spreads rapidly and widely, affecting many individuals in an area or a population at the same time.  Reasons for the epidemic and its severity could include:  soldiers living in close quarters allows the disease to spread quickly, troops constantly moving from one place to another, unsanitary conditions in war ravaged countries, stress of the war causes immune system to be more vulnerable.

2.  Treatments mentioned in the story included putting onions in the bedding, sprinkling brown sugar on hot coals, and drinking whiskey.  Today, treatments include drinking lots of fluids, and rest.

3.  Antibiotics are not effective against the flu because the flu is caused by a virus.  Antibiotics can kill bacterial infections, but not viral infections.

4.  Answers should mention something about flu vaccines.
5. Answers will vary.  
	 Science 1 Worksheet 2
1.  Answers will vary.  If the same bacteria were isolated in both oranges, this is good evidence that they have successfully identified the source of the disease in the oranges.

2.  Because viruses require a living host to survive, they cannot be isolated on a pure culture.  This interferes with step 2 of Koch’s Postulates.
	Science 2 Worksheet 
1.  The less crowded demonstration resulted in less people getting infected, the more crowded demonstration resulted in more people becoming infected, and it should have been more difficult to trace the disease back to a single person.
2.  Health officials try to minimize the number of people infected individuals come into contact with.  This is why we have to stay home from school or work when we are sick.

3.  This activity didn’t demonstrate how disease is spread from one person to multiple people at one time, such as an infected person sneezing in a room full of people, a contaminated water or food source, or a disease carrying insect.

4.  During the war, soldiers lived in close quarters, and were also transported in close quarters on trains.  This would allow the infection to spread rapidly between the soldiers, and also from town to town. 

	 Science 3 Worksheet
1.  Hepatitis – arthritis, blurred vision, chills, depression, dizziness, gas, jaundice, vomiting. Caused by a virus. no cure/treatment. 

2.  Chicken pox – itchy red bumps, low grade fever, runny nose, decrease in appetite, tired. Caused by a virus. No cure. 

3.  Strep Throat – severe sore throat, swollen glands, fever, headache, stomach ache, cough, runny nose, and other cold symptoms.  Caused by bacteria, can be treated with antibiotics. 

4.  Measles- high fever, rash, coughing, watery eyes, runny nose.  Caused by a virus, can be prevented with a vaccine (MMR).

5.  Tuberculosis – unexplained weight loss, fever, fatigue, loss of appetite, night sweats.  Caused by bacteria, can be treated with antibiotics.

6.  Cholera – watery diarrhea, dehydration, vomiting, leg cramps. Caused by bacteria, treated with antibiotics and rehydration. 

7. All the bacterial infections can be treated with antibiotics

8.  All the viral infections have on immediate cure/treatment.

9. The disease symptoms usually do not indicate whether it is caused by bacteria or a virus.
	Science 4 Worksheet

The Skin – K, H

White Blood Cells – C, F

Antibodies – A, J

Antigens – D

T- Helper Cells – E. G 

B –Cells – B, I

2.  It seems that none of the immune system components would be enhanced by camphor or turpentine, these treatments were not very useful.  

3. Answers vary.  This is an open ended question.  Students are to predict treatments that would help the immune system in fighting the disease.  They may mention something similar to a vaccine, so that the body already has the necessary antibodies to fight the disease, and does not have to spend the extra time and energy making them.  
	Science 5 Worksheet
1.  The sun was hot but the old man did not get his hat

2.  the sun ash otb utt heo ldm and din otg eth ish at
The sentence no longer has                   any meaning; the deletion of one   letter completely changed the meaning of the sentence.

3.  The sentence, the letters

CGA UGC UGC GAA ACU             UUG GCU GAC

4.  CGU GCU GCG AAA CUU UGG CUG AC

No, this sequence will no longer code for the same protein because the codons that specify the individual amino acids have changed.

5.  Answers will vary, but should include the following:  The flu virus has mutated, the RNA is now divided up into different codons, allowing a different protein to be made.  Instead of producing the protein that the vaccine blocks, the virus is now producing a new protein with the same function, but is not blocked by the vaccine.

6.  Answers will vary, but should include the following:  It is important to get a new flu shot every year because flu viruses can easily mutate to become resistant to the vaccine you received last year.  
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